T

=1

RfEZR (AN01)

Hj

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEX Sy OB - g~ 0 bR
THXSy ki kR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
Rk kR
= 1
W+ 1T
= 1
A T
= 1
el TR R, BT ERRLIA ONR
HR0) , it LA s/ NUE (REYELLAY)
m3 7
KT
= 1
& Gt 1) i e B 2. 5mAil
m3 5
FRTALH T
= 1
R B G- EAIR Y L&)
m3 17
7% Ly
m3 17
LMK B T
= 1
(==
= 1

=N

i




T ERTEER (401)

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEN Sy OB - g~ 0 bR
THXSy ki kR
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (mifa)) e (4m) sl e
PRYE D (HEH) T
m3 48
HEL TEXSG L, R
m3 30
FLTHHEIE
m2 29
BUAFT /K T
= 1
BIGFIKEE IR 1 50cm, P :50em, 277 )~ A 1
8-8-40 (F&1J7)
m 41.
i b
& 10
Eigav)-h t=100
m2 4
KL
= 1
SEIK HE KRR EE - BSOO*H1000, 27 ) - M ELA%:
1 18-8-40 (B )
& HT 1
IRRRCT
= 1
R
B8 1
9 - TR I




T ERTEER (401)

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEN Sy OB - i3~ 0 3R
THXSy ki e R
THX 5y - AR - 85 - A0 Bikk HAL ek (gilED) e (4m) sl S
AFE T
= 1
Fifl =200
m2 11
S T
oV 1
HEE R L 1
= 1
370~ MR LS LB HEXEN) X ) SRR, TIEX Sy
YNPs) T
m3 5
370~ MR LS LB HEXEW) DX ) BRI, TIEX Sy
NV2) T
m3 0.2
PeokMEEmE T
= 1
Vs =h7) -2
m 41.9
ER AP T
oV 1
B33 A= i AT V) b7 ) amh
] 1
sy SlZA VIESIA
m3 1

=N

pi



2R

it fEas (AN01)

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEX Sy OB - g~ 0 bR
THXSy ki kR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
Rz L
= 1
T HER T
= 1
VI
m 90
[EREMNES ¢
= 1
B ST
= 1
HomfErE (FEL)
= 1
S ¢
= 1
Bl E
= 1
LU
= 1
— A B
= 1
B i
= 1
- e




T ERTEER (401)

THE4 | R2=4+ FEHHIT~Y K-FEH LEKKRTSHE (2) FEXS HOBE - g~ 0 %R
THEXS FENIPSW
THXSy - TFE - FERI] - 5] Hiks BAfL s (il Y (AR Bk i 2
THE AR K O 5 JE B Bl e
= 1
THHE
= 1

=N

i



T

=1

RfEZR (AN02)

Hj

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEN Sy OB - g~ 0 bR
THXSy ki kR
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (mifa)) e (4m) sl e
Rk kR
= 1
W+ 1T
= 1
AT
= 1
BRI 301% 1 TE AW CEBE- EAIRY HET)
m3 6
7RSSy
m3 6
g AK T
= 1
E¥+T
= 1
PRAE D (HE A1) TR
m3 23
HEL TEXSG L, 1 L
m3 16
H i IE
m2 15
BISGHT K L
= 1
6 - TR I




2R

El\’([_\\

fhZ (AR02)

J— I=E7 TN
TH4 | R2=1+ FHHM#T~Y H-EH LEAKEIF (2) HEN Sy OB - Hi1 9~ 0 b 3R
THXSy ki e R
TSy - AR - FiR - i Bikk HAL ek (gilED) i (4D K S
B FT K PRI - 50cm, PNTET 1 50cm, 27 ) -k 11
8-8-40
m 21. 4
i b
p-S 2
S L
oV 1
HEE R L 1
= 1
7)) - EEE LGSR AL PR
m3 2
Pk S E T
oV 1
Ay =70 a-hE
m 21. 4
AL T
= 1
B384 i FEAMFEIE VT =17 2
5] 1
sy ayh=p7Y 2=k
m3 1
(G an
= 1

=N

i




2R

it fE g (AN02)

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEN Sy OB - g~ 0 bR
THXSy ki kR
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (mifa)) e (4m) sl e
THER T
= 1
)Vl

m 50

[EREME: X
= 1

IR
= 1

HomfarE (FEL)
= 1

ol T
= 1

U5 B
= 1

LU
= 1

— A B
= 1

T HAfliks
= 1

THEBIRE K Ol 5 1 e B
= 1
_g- TR I




THEERTER (4R02)

THE4 | R2=1+ EHH#T~Y H-FH LEAKKELE (2) FEXS HOBE - g~ 0 %R
THEXS FENIPSW
THFX Sy - TFE - FER - A5 Hiks BAfL s (il HE (5E) Bk i 2
THEEF
= 1

=N

i



THEERTEER (403)

T4 | R2=1+ FHMIT~Y H-FEH [EKELE (2) Xy HOBA - HIF~ = 0 %f 5K
THXsy ki et 5K
THX Sy - LfE - FHR - A5 Hirks HAL o (iR B (4R LR 11 2L
ki et 5K
= 1
ISR B T
= 1
ISR A - K B L
2 1
LR UTARITE: fig 1 180cm, /& & :180cm
m 5
= %L L—F)" (5. 0kN/m2) 180
e 5
Feagavy )b
m2 3
LRI 5 T
= 1
LI R 2 EME BN VIfVE, B 20em
, B & 1500em
m 17
EELT
2 1
RYE D HHE R
m3 0.4
HREL TEXSG L, L
m3 0.3
- 10 IR




THEERTEER (403)

Hj

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEN Sy OB - g~ 0 bR
THXSy ki e R
THX 5y - AR - 85 - A0 Bikk HLAZ ek (gilED) e (4m) sl e
H i IE
m2 0.4
BISGHT K L
= 1
BLGFIKEE V7)) = bR 1 18-8-40 (i 4A)
m 0.8
SRt
= 1
VN SEOKERENE : BUGHT, 27 ) - MK 1 18-
8-40 (#=%7)
i i 1
ES L) V-F07 (T-2) 300%300
H 1
[EREMNES ¢
= 1
B ST
= 1
HomfarE (FEL)
= 1
S ¢
= 1
Bl e
= 1
- 11 IR




THEERTEER (403)

TH4 | R2=1 FHMTY H-EH LEAKKLE (2) HEX Sy OB - g~ 0 bR
THXSy ki kR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
THJRUifh
= 1
— A B
= 1
TS
= 1
THABIRE K O 5 1 2 B4
= 1
THEF
= 1

,12,

=N

i



